3-1 graphing inequalities.notebook September 19, 2016

Homework: Pg 168 Q's 8-34

8. vis greater than or equal to 5. 9. bisless than 4.

10. 3 less than gis less than or equal to 17. 11. The quotient of k and 9 is greater than %

Determine whether each number is a solution of the given inequality.

12. 3y — 8 = 22 a.z2 b. 0 €5
13.8m — 6 =10 a.2 b. 3 c 1
14, 4x + 2 < —6 a. 0 b. —2 c.1
15.%2 11 a. 0.5 b. 2 c.4
16. m(m — 3) < 54 a. —10 b. 0 c.9

Match each inequality with its graph.

17. x < —1 18. x = —1 19, -1 < x 20, -1 =«x
A, T ————— C. ———t—a
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
—t —— S —
B. -4 -3 -2 -1 0 1 2 3 4 D. -4 -3 -2 -1 0 1 2 3 4

Graph each inequality.
21.y > 2 22.t< 4 23.z= 5 24.0 = 2
25. 3<f 26. S =c 27.8=b 28.5.75 > d

Write an inequality for each graph.
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29. -6 -5 -4-3-2-1 0 1 2 30. -4 -2 0 2 4 6 8§ 10 12
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31. -4 -3 -2 -1 0 1 2 3 4 32. -10 -9 -8 -7 -6 -5 -4 -3 -2

i i I i t e = } : } : f I F—t l
33. -1 0 1 2 3 4 5 6 7 34. -4 -3 -2-1 0 1 2 3 4
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